OPEN DATA "INPUT peak to peak labour productivity estimates.xls"
DATA(FORMAT=XLS,ORG=ROWS) 1 12 peakLP
COMPUTE AVLR = 1.45  ;* AVERAGE LONG RUN LP GROWTH 1900-2012

compute ndraws = 10000
smpl 13 24
dec vect PRODSIMS(ndraws)
dec vect INCSIMS(ndraws)
dec vect GROWTHSIMS(ndraws)


[bookmark: _GoBack]do draws = 1,ndraws
boot entries / 1 12

	set path = peakLP(entries)
	stats(noprint) path
	compute PRODsims(draws) = %mean
	set Growth_S3 2012:1 2060:1 = %if(t==2012:1,Growth,%mean/100.)
	SET(FIRST=BASE_PROD) PRODUCTIVITY_s3 2012:1 2060:1 = (1.+GROWTH_S3(T))*PRODUCTIVITY_s3(T-1)
	SET GDP_CAPITA_s3 2012:1 2060:1 = LF/CPOP*EMP/LF*HOURS/EMP*CPOP/MPOP*PRODUCTIVITY_s3
	SET GDP_s3 2012:1 2060:1 = HOURS*PRODUCTIVITY_s3
	compute GROWTHSIMS(DRAWS) = ((GDP_CAPITA_s3(2060:1)/GDP_CAPITA_s3(2012:1) )^(1./(2060:1-2012:1)) -1.)*100.
	compute INCOME_s3 = 0.0
		do t = START, END
   	compute INCOME_S3 = INCOME_s3+ GDP_s3(t)
	end do t
	compute INCSIMS(DRAWS) = 1./MEANPOP*income_s3

end do draws


compute ratefract = %fractiles(PRODSIMS,||0.1,0.2,0.3,0.4,0.5,0.6,0.7,0.8,0.9||)
disp "10% to 90% fractiles of mean peak to peak productivity growth ARE" $
##.## ratefract(1) ratefract(2) ratefract(3)  ratefract(4) ratefract(5)  ratefract(6) ratefract(7)  ratefract(8) ratefract(9)

compute ratefract2 = %fractiles(GROWTHSIMS,||0.1,0.2,0.3,0.4,0.5,0.6,0.7,0.8,0.9||)
disp "10% to 90% fractiles of PER CAPITA GROWTH RATES" $
##.## ratefract2(1) ratefract2(2) ratefract2(3)  ratefract2(4) ratefract2(5)  ratefract2(6) ratefract2(7)  ratefract2(8) ratefract2(9)

compute ratefract3 = %fractiles(INCSIMS,||0.1,0.2,0.3,0.4,0.5,0.6,0.7,0.8,0.9||)
disp "10% to 90% fractiles of AVERAGE INCOME BENEFITS" $
*. ratefract3(1) ratefract3(2) ratefract3(3)  ratefract3(4) ratefract3(5)  ratefract3(6) ratefract3(7)  ratefract3(8) ratefract3(9)
